Digger Parts

16

DANUSER F8 DIGGER

= Safety Sign
Location

~..o

Ref. o Part  No. | Ref. o Part Gl Call
No. Description No. Regqd| No. Description NO.  Req'd Reqd
Crane BoOM......c.oovevemiemenecnrenenererercnnnes 9049........ 1 11 Klik Pin...cooerereeeeceeceeneens 1600.....2.......... 2
(consists of the following) 12 Link Pin .o 7456.....2.......... 0
I YOKE.uooeereeeceeereneree e 7455........ 1 (7/8” or 1-1/8” reversible)
2 Boom (includes 7467 Bushing)............ 7463........ i 13 Roll Pin (7/16” x 1-3/4”)............ 7457.....2 ......... 2
3 Bushing (25/32” X 1) ccerecerrvercnnenee 7467........ 1 14 Pin (7/8” x 10-1/167).....coceeureu... 7458......1......... 1
15  Snap Ring (7/8")..cccccceveerevcrirnncee 7464.....2......... 2
Gearbox Assembly.......cocreeevererinirnererccnnenens 7561........ i 16 Pin(7/8” x 16-11/16”)................ 74710 e i
(consists the following) 17 Bushing (29/32” x 61/64”)......... 8590.....0......... i
4 Bolt (3/8"=16 x 1-1/4” Gr. 5) 18 Link Pin (1-1/8") e 9048.....0......... 2
5 Nut (3/87=16) .coeoerrerrrerrccreerens
6 Bolt (3/8"-16 x 7/8” Gr. 5)........
7 Auger Adapter Shield...........ccoceennce.. Owner’s Manual (in digger box).......coooecvrermrirvrsrenues 1
Driveling PKg......cooeveneermerecreeeneieecenecnnas 7569........ 1
(consists of the following)
8 ROl Pin (5/16” X 2 ceeerrcrrrreerennne 7570........ 1
9 Pinion Guard ......cc.ccoevvvevenrreerennenens 7428H .....1
10 Driveline.....ccccrmivcrciiincnreeccrennene 7571........ 1




Gearbox
Assembly

F8 GEARBOX ASSEMBLY

Ref.
No.

Description No. Req;d

Gearbox Assembly.........ccoeeereveevvivenenrnennnne

1

OO0~ B WN

Bolt (7/167=20 x 1)
Housing Cover Plug
Cover Plug Gasket.......cccovvevreereiecenenncn.
Gear Housing Cover...
Serial NUMDBET .......coovvveeeeeeeeeieee e
Gear Housing Cover Gasket...................

Bearing Cup (Upper Spindle)
Bearing Cone (Upper Spindle)............... 357....... 1
Bolt (3/8"=24 x 7/8 with nylon patch) ....... 249.....12
(SPECIAL BOLT: Use Genuine Danuser Replacement Only)
Spindle.....ooiniiiiice e

Ring Gear........cooovvvevmeinvivnicnrinineieens

Bearing Cone (Lower Spindle) ...
Bearing Cup (Lower Spindle)................
Grease Seal .......ccoovvveevreeerenenecnine
Gear Housing..................
Ring Gear and Pinion.....
Pinion....ccccoeveecnvnerreneenenene
Bearing Cone (Inner Pinion).....
Bearing Cup (Inner Pinion).......
Bearing Cup (Outer Pinion) .........c.........
Bearing Cone (Outer Pinion)..................
Grease Seal v
Pinion Nut.......cccoevvvereverrncnnns
Roll Pin (3/16” x 27)..............
Cap (Pinion Protection).............
Bolt (3/8”-16 x 1-1/4” Gr. 5)....

Not Shown

.

A: Safety Sign Location

center column. Auger Adapter Guard, PN 9545, is required when using augers with
3-5/8” center column (Danuser Hole Digger Head 24” and larger diameter augers).

17




Driveline Parts

S/

N\

DO NOT OPERATE

ADANGER

PART NO. 13-10022
Location: Driveline tube,
under Guard

18

A: Safety Sign Location

F8 DRIVELINE PARTS

ROTATING DRIVELINE
CONTACT CAN CAUSE DEATH
KEEP AWAY!

il DO NOT OPERATE WITHOUT-

o ALL DRIVELINE GUARDS, TRACTOR
AND EQUIPMENT SHIELDS I FLACE
Y

i » ORIVELINES SECUREL
ATTACHED AT BOTH ENDS
o DRIVELINE GUARDS THAT TURN
' FREELY OM DRIVELINE

PART NO. 13-10021
Location: Driveline Guard

Ref. Part No.
No. Description No. Reqd

1 Drivelin......occoenviecimnininneneriinennnns 7571....... 1

Telescoping Assembly with Guard

2 Digger Half with Guard

3 EndYoke...oiiiiiien

4  Center Cross Repair Kit

5 Yoke and Tube.......cooervrvvcurucaan

6 Bearing Retainer.......c.cooee...

7 Nylon Bearing ......ccocovovieneee.

8 Inner Guard (incl. 6067 and 7258)....... 7259....... 1
9 Tractor Half with Guard...................... 7260....... 1
10 Outer Guard (incl. 6067 and 7258)......7261....... 1
11 Yoke and Shaft ....c..ccccovervrvviiirennnnne 7262....... 1
12 Spring-Lok Yoke Assembly.................. 7269....... 1
13 Spring-Lok Repair Kit.......ccovvuvennnecns 6131....... 1




Auger Assemblies

& DANGER

A - Safety Sign Location

When using an extension, Ref. No. 9, PN 7676, Ref. No. 11, PN 7731,
and Ref. No. 10, PN 7733, should be relocated from the auger adapter
to the extension adapter and Ref. No. 13, PN 9548, should be used to

attach the auger to the extension to avoid possible entanglement.

NOTE Augers have replaceablg points ax}d edges. _Serr_atcd cuttin_g efiges (Ref._ No. Za) and optional points (Ref. No. 6
and Ref. No. 7) are available to aid penetration in tough digging conditions. Flights are replaceable except on
4” and 67, where the flight is a continuous spiral. Cutting edges for 4” and 6 augers are welded on auger.
AUGER ASSEMBLIES FOR 2-9/16” ROUND SPINDLES
Part Number by Auger Diameter o
Ef)f-: 47 6” 9” 10”127 147 16 18 24" 307 Description :;’d
450 417 1551 | 288 412 451 | 7650 | 1275 | 1270 | 7857 | Standard Auger, 40" Long, with Plain Edges and Std. Point |
1552 | 487 488 489 | 7665 | 1276 | 1272 | 7935 | Standard Auger, 40” Long, with Serrated Edges and Std. Point 1
: 7476 | 7478 | 7419 | 7437 | 7661 Standard Auger, 52" Long, with Plain Edges and Std. Point 1
7497 | 7498 | 7499 | 7519 | 7734 Standard Auger, 52” Long, with Serrated Edges and Std. Point 1
, | 7782 ] 7783 Plain Cutting Edges (Weld On) 1 Set
7784 | 7788 | 7790 | 7792 | 7794 | 7796 | 7798 | 7890 | Plain Cutting Edges (with Bolts and Nuts) 1 Set
2a 7785 | 7789 | 7791 | 7793 | 7795 | 7797 | 7799 | 7883 Ser:rated Cutting Edges (with Bolts and Nuts) 1 Set
3 784 | 784 | 784 | 784 | 784 | 784 | 784 | 784 | Cutting Edge Bolt (3/8"=16 x 1" Carriage) As Req’d
4 785 | 785 | 785 | 785 | 785 | 785 | 785 | 785 | Cuning Edge Nut (3/8"—16 Hex) As Req’d
5 899 831 831 831 831 831 831 831 831 831 Standard Auger Point 1
6 1937 | 1937 | 1937 ] 1937 | 1937 | 1937 | 1937 | 1937 | 1937 | Special Duty Auger Point 1
7 6210 | 6210 | 6210 | 6210 | 6210 | 6210 | 6210 | 6210 | 6210 | Aggressive Duty Auger Point 1
8 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | Auger Adapter Replacement (for Field Welding) 1
9 | 7676 | 7676 | 71676 | 1676 | 1676 | 7676 | 7676 | 7676 | 7676 | 7676 ?Se:lliigiln,fLBglCt)l(_flr/: ZU';?G’;Z: il:;)Danuser Replacement Only) i
10 ] 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | Shear Nut (1/2"=13 Hex) |
i | 7m0 | 773 | s | mmsa | 7osn oamsa | s | e | e | 7 (Sshlf"gc?gli o mxs o2 g:;&;"‘;";j; cement Only) !
1849G | 1849G | 1849G| 1849G| 1849G | 1849G| 1849G | 1849G| 1849G| 1849G| Auger Extension with Guard (77) (incl. Auger Adapter Guard) 1
12 | 7494G| 7494G | 7494G | 7494G| 7494G | 7494G | 7494G | 7494G | 7494G| 7494G| Auger Extension with Guard (14 1
7663G| 7663G | 7663G | 7663G | 7663G | 7663G | 7663G | 7663G | 7663G | 7663G| Auger Extension with Guard (21) 1
13 | 9548 | 9548 | 9548 | 9548 | 9548 | 9548 | 9548 | 9548 | 9548 | 9548 (CS‘;,“ggl‘:'i (P}I/I%J‘:. lis3e ‘G/Qline Danuser Replacement Only) I

19



Hole Digger Head
Auger Assemblies

A = Safety Sign Location

NOTE

NOTE

Hole Digger Head Augers have replaceable points and teeth. Flights are replaceable, except on 6”.

Auger point, PN 9353, is the only auger point that can be used with Hole Digger Heads.

AUGER ASSEMBLIES WITH HOLE DIGGER HEADS FOR 2-9/16” ROUND SPINDLES

Ref. Part Number by Auger Diameter - No.
” " ” » » ” ” » ” Description ,
No.| 6 9" 107 127 14" 16”7 18" 247 30 Req’d
9387 | 9314 | 9315 | 9316 | 9317 | 9318 | 9319 | 9320| 9321 | 40" Hole Depth Auger with Double Flight Construction 1
| 9322 | 9323 | 9324 | 9325 | 9326 52” Hole Depth Auger with Double Flight Construction |
9359 | 9361 | 9363 | 9365 | 52" Hole Depth Auger with Single Flight Construction 1
Shear Bolt (1/2"=13 x 4” Gr. 5, 3/4” of thread)
7
2 7737 | 7737 | 7737 | 7737 37| 7737 | 7137 | 7737 1 7737 (SPECIAL BOLT: Use Genuine Danuser Replacement Only) !
3 | 7733 § 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | 7733 | Shear Nut (1/2"-13 Hex) 1
4 Retaining Bolt (1/27-13 x 7/16™) |
7676 | 7676 | 7676 | 7676 | 7676 | 7676 | 7676 | 7676 | 7676 (SPECIAL BOLT: Use Genuine Danuser Replacement Only)
5 7781 | 7781 § 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | 7781 | Auger Adapter Replacement (for Field Welding) 1

Bolded Auger Part Number - Auger Adapter Guard, PN 9545, is required

Hole Digger Head Kits can be
welded onto standard augers.

20

(Field Welds to Auger)

HOLE DIGGER HEAD KiT*

with these 3-5/8” center column augers.

HOLE DIGGER HEAD REPLACEMENT PARTS

Ref. Part
No. Description No.
1  Hole Digger Head Point.........ccocvveerennnn. 9353

2 Hole Digger Head Tooth .........c.ccvveeeneens 9234
Hard-Surface Tooth (Option) ................. 9964

3 RoUPin (516" x 1-1/4") ..o 7483

Hole Digger Head Replacement Parts

Auger No. Teeth Part
Dia. per Head No.

— s
67 2 e 9386 e I \
O 4 9306
107 .o 4 9307
127 o 4 9308
| 6 9309
16" e 6 o 9310 @
18" . 6 9311

24" 8 9312
307 10 ...l 9213

center column.

* Includes head with teeth and roll pins, point and
point adaPter with tube, for welding to auger



	F8ManualPg16
	F8ManualPg17
	F8ManualPg18
	F8ManualPg19
	F8ManualPg20

